SAEEE HERRNY L

14 — 1
1.
D3 U ®12
?(T) 3
2
@32 @4
5 15
3.
@17 ®é4
5 15
4 .
@43 23 3@
?(T) 7
5.
M3 @417
3 56
6
@7 @241
2 56
14-2 HEROEL
1.
@52 2] @H
?(T) 3
2.
@31 @4
5 1

" (

5F &

SBROELE (FH8)

GO

#

I
=



. 16 - 53
5 12
4
- 3 /31 . 15 . 2 /07 . 1 /10
= (7) @37 () @% (5) 995 (v
5.
@3 1 @4 1
5 30
6 .
. 16 - 139
5 30

14-3 HR0OELE GFoR)

2.

M3 @4 I
7 56

3.

. 22 241
7 56

4 .



8

3— @4—

Q) @ 5
6.

013 508

4 15

14—-4 HEROELE GRoR)

9
3.
. 43 176
12 56
4 .
@3 - 17 @3 : 2 @5
5 (T) 8 (?) 4
5.
@3 @4 0
3 21
6 .
. 1 - 89
3 21

14-5 HROELE FHEO



M3 2 (Y @3 @4
5 (T)
2.
@3 @4 1
40 30
3.
. 127 - 121
40 30
4
@41 9 . 4 195
7 (3) 297 (+)
5.
@3 2 @4 °
7 04
6 .
. 23 - 101
7 04

14—-6 HROELE GEoR)

2.
D3 @4
36 12
3.
13 53

36 12






